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ANSWER THESE QUESTIONS

QUESTION —1- (6 points )

The 10-kg slider A moves with negligible friction up the inclined guide. The
attached spring has a stiffness of 60 N/m and is stretched 0.6 m in position A,
where the slider is released from rest. The 250-N force is constant and the pulley
offers negligible resistance to the motion of the cord. Calculate the velocity of the
slider as it passes point C.

QUESTION —2- (6 points)

The double inclined plane éupports’ two blocks A and B, each having.a weight of
10 Ib. If the coefficient of kinetic friction between the blocks and the plane is 0.1.
Determine the acceleration of each block.




QUESTION — 3- (8 points )

The ball has a mass of 30 kg and a speed 4 m/s at the instant it is at its lowest
point, 6 = 0°. Determine the tension in the cord and the rate at which the ball s
speed is decreasing at the instant 6 = 20°. Neglect the size of the ball.
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